

۲. افزودن

باران تسلیبی

$$g'(x) = f'(u) \cdot u' \quad \text{و} \quad g(x) = f(\tan^2 x + \sqrt{2} \cos x)$$

$$g'(\frac{\pi}{4}) = (2 \tan x + 2 \tan^3 x - \sqrt{2} \sin x) \times f'(\tan^2 x + \sqrt{2} \cos x) = \sqrt{2}$$

$\underbrace{\hspace{10em}}_{\sqrt{2} \times f'(u) = \sqrt{2}}$

$$\Rightarrow f'(u) = \frac{\sqrt{2}}{\sqrt{2}} \quad \checkmark \quad \text{D}$$

$$f(x) = \frac{1 + \cos x}{1 - \cos x} \Rightarrow \frac{(1 + \cos x)(\cos x - 1 + \epsilon)}{(1 + \cos x)(1 - \cos x)} = \frac{\cos x - 1 + \epsilon}{1 - \cos x}$$

$$g(x) = \frac{1}{1 - \cos x}$$

$$f'\left(\frac{\sqrt{3}}{4}\right) - r g'\left(\frac{\sqrt{3}}{4}\right) = (f - rg)' \left(\frac{\sqrt{3}}{4}\right)$$

$$\hookrightarrow \frac{\cos x - 1 + \epsilon}{1 - \cos x} - \frac{1}{1 - \cos x} = \frac{\cos x - 1 + \epsilon - 1}{1 - \cos x} \rightarrow \frac{-\cos x (1 - \cos x)}{1 - \cos x} = -\cos x$$

$$(f - rg)' = \sin x \xrightarrow{x = \frac{\sqrt{3}}{4}} \boxed{\frac{-1}{r}}$$

$$f(x) = |x - r| \sqrt{ax} \quad \text{---} \quad \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a}$$

$$f_+\left(\frac{r}{r}\right) = \lim_{x \rightarrow \frac{r}{r}} \frac{|x - r| \sqrt{ax}}{x - \frac{r}{r}} \xrightarrow{\frac{0}{0}} \frac{(x - r) \sqrt{ax}}{x - \frac{r}{r}} = \frac{f\left(x - \frac{r}{r}\right) \sqrt{ax}}{x - \frac{r}{r}} = r \sqrt{ax}$$

$$f_-\left(\frac{r}{r}\right) = \lim_{x \rightarrow \frac{r}{r}} \frac{-(x - r) \sqrt{ax}}{x - \frac{r}{r}} = -r \sqrt{ax}$$

$$\cancel{f \sqrt{ax}} - (-r \sqrt{ax}) \Rightarrow \Lambda \sqrt{ax} = r \sqrt{4} \rightarrow \sqrt{ax} = \frac{\sqrt{4}}{r} \xrightarrow{r \sqrt{4}} ax = \frac{4}{r^2}$$

$$\Lambda ax = r^2 \rightarrow x = \frac{r}{r} \leadsto \Lambda^r \times \frac{r}{r} \times a = r \rightarrow ra = 1 \rightarrow \boxed{a = \frac{1}{r}}$$

$$f(x) + f'(x) = -1 \quad \text{معطى} \quad y + ax = 2$$

$$f'(x) = ?$$

$$y = -ax + 2$$

$$-a = f'(x)$$

$$f(x) = -ax + 2$$

$$\Rightarrow -a + 2 = -1$$

$$-a = -3 \rightarrow a = 3$$

$$f'(x) = -3$$

؟ a

$$y = \frac{ax-1}{x+1}$$

$$y - x = a$$

$$y = x + a \rightarrow y = \frac{1}{v} x + \frac{a}{v}$$

$$f'(x) = \frac{a+1}{(x+1)^2} = \frac{1}{v}$$

$$\frac{x+a}{v} = \frac{ax-1}{x+1}$$

$$\rightarrow \frac{ax^2 + x + 1}{x+1} = \frac{ax^2 - 1}{x+1}$$

$$ax^2 + x + 1 = ax^2 - 1 \rightarrow x + 2 = 0 \rightarrow x = -2$$

$$1 - va = -1 \rightarrow a = 2$$

$$f(x) = 0 \Rightarrow f'(x) = 0 \quad \left[\begin{array}{l} f(x) = 0 \rightarrow 1 + 2a - b = 0 \quad b = -14 \\ f'(x) = 0 \rightarrow 1 + a = 0 \rightarrow a = -14 \\ b - a = -14 \end{array} \right. \quad -9$$

$$\lim_{x \rightarrow 0} \frac{(x^r)^n (x^r)^{n-1} \cdot r x}{(r(\frac{x}{r})^r)^m} = \quad -V$$

$$\lim_{x \rightarrow 0} \frac{r_n x^{f_n-1}}{r^{\frac{1}{m}} x^{r_m}} = \lim_{x \rightarrow 0} r^{m+1/n} x^{f_n - r_m - 1} \rightarrow \text{مساوي وغير مساوي (نشان 0)} \quad -V$$

$$M = \frac{V}{P} \quad 9. n = r \rightarrow rM + n = 9$$

$$f^{-1}(x) = \left(\frac{x+1}{x-1}\right)^r \xrightarrow{x=r} r \left(\frac{x+1}{x-1}\right) \left(\frac{1(x-1) - 1(x+1)}{(x-1)^2}\right) \xrightarrow{\text{مساوي}} \Rightarrow (-1) \quad -A$$

$$\frac{f(0) - f(-1)}{0 - (-1)} = \frac{1 - (1 - a))}{1} \quad -9$$

$$1a - v = -11 \rightarrow a = \frac{1}{r}$$

$$f(x) = (x^r + 1)^r \left(\frac{-x}{r} + 1\right)$$

$$f'(x) = r(x^r + 1)^{r-1} \left(-\frac{x}{r} + 1\right) - \frac{1}{r} (x^r + 1)^r$$

$$\hookrightarrow f'(1)$$

$$y = \sin x \cos^r x \Rightarrow \frac{y(\frac{\pi}{r}) - y(\frac{\pi}{2})}{\frac{\pi}{r} - \frac{\pi}{2}} = \frac{\sin \frac{\pi}{r} \cos^r \frac{\pi}{r} - \sin \frac{\pi}{2} \cos^r \frac{\pi}{2}}{\frac{\pi}{r} - \frac{\pi}{2}} \quad -10$$

$$\Rightarrow \frac{1 \cos(-1) - 0}{\frac{\pi}{2}} = \frac{-2}{\pi}$$

$$y = \sin^2 x - \cos^2 x = (\sin^2 x + \cos^2 x) (\sin^2 x - \cos^2 x)$$

$$\frac{y(\frac{\pi}{r}) - y(\frac{\pi}{2})}{\frac{\pi}{r} - \frac{\pi}{2}} \Rightarrow (-1) \quad -1$$

$$\Rightarrow (-1)$$